
ZAPIS V ZVEZEK:
Vaja
1. Reši enačbe in naredi preizkus.
	ENAČBA
	POMOŽNI RAČUN:
	PREIZKUS:
	POMOŽNI RAČUN:

	125 : x = 25                        
	
	
	

	x ·25 = 600                          
	
	
	

	x  ·  36  = 468
	
	
	

	3927  :  3  =  x
	
	
	

	x  ·  35  = 1820
	
	
	



2. Domača naloga učbenik str. 90 / 1. b in c.












REŠITVE
1. Naloga
	125 : x = 25         x = 5              

	x ·25 = 600         x = 24                                 

	x  ·  36  = 468     x = 13              

	3927  :  3  =  x    x = 1309            

	x  ·  35  = 1820     x = 52             



